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PQ is a diameter of the
circle. A tangent through Q
meets the chord PR pro-
duced at S. Prove that

RQ*=SR-RP (Fig.1)
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Figure 2.

a circle, centre O. Another
circle is drawn with OA as
diameter. A chord AP of the
larger circle cuts the
smaller circle in Q. Prove
that:

@ BPIOQ
() AQ=QP (Fig. 2)




YEAR 12 - 3 UNIT REVISION - CIRCLE GEOMETRY

PAGE 3

AB is a diameter of a circle.
CD .1 AB and CD intersects
ABin R, and AS at P. Prove
that:

(i) PRBSis a cyclic quadri-
lateral

(i) AP-AS=AR-AB
(Fig.3)
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In the Fig. 4 PQisa
diameter of the larger
circle and PQRis a
straight line. PR L RS.
Prove that P, T and S
are collinear.
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Figure &.
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In Fig. 5 BC and DA
are common tangents
to both the circles.
Prove that:

(i) BD=DC
(ii) <BAC = 90°
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Given : SQ is a tangent,
PQ is a diameter
Prove: RQ?=SR-RP
Proof : Join RQ
In APQR and ASQR:
x=Yy (Zbetween
tangent and chord = £ in
the alt. segment)
2=90 (PQ, diameter)
u+2=180 (SRP, ast. £)
z=u
m=n (£Zsumof A
= 180°, so0 3rd respective
Zs are equal)
. APQRIIIASQR
. sides are in the same
ratio

Given: AB and AO are the
diameters. O is the centre
of larger circle.
Prove: (i) OQ!IBP
(ii) Q is the mid-
point of AP
Proof :
@ x=90 (AB is diameter)
y=90 (AO is diameter)
.~ x=y, but these are
alt. Zs.
. OQIIBP
(ii) In AAOQ and AABP:
x =2y (proved above)
ZA is common
Since the £ sum of any
A is 180°, the 3rd
respective ZAOQ
= L/ABP
- AAOQIIIAABP
.. sides are proportional
. A0_AQ
" AB AP

3.

(ii)

4.

" But AB=2A0 (O is the
centre)
- AQ=4AP
~ Qis the mid- point
of AP. o

Given: AB is diameter,
CD 1 AB
Prove: (i) PRBS is a cyclic
quadrilateral
(ii) AP-AS
=AR-AB
Proof : Join BS
x=90 (CD L AB)
y=90 (AB, diameter)
s x+y=180
~. PRBS is a cyclic
quadrilateral

In AARP and AABS:
ZA is common
z=x=90 (CDLAB)

.~ The 3rd respective
ZAPR = ZABS (£ sum
of A =180°)

~. AARP I AABS

.. sides are proportional

@)

Given: PQ is the diameter
of the larger circle,
PR LRS.
Prove: P, T, S are
collinear
Proof : Join PT, TS, QT.
x=90 (PQisa
diameter)
2=90 (PRLRS)
2+y=180 (opp. £s of
cyc. quad. TSRQ)
. y=90
" X+y=180
. PTSisast. £
~ P, T, S are collinear.
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Given: BC and DA are
two common tangents.
Prove: BD=DC and
ZBAC =90°,
Proof :
(i) DA=DC (Tangents
from a point are equal
in lengths)
DA=DB
-~ DB=DC
(ii) x=y (DB=DA, ABDA
isosceles)
z=u (DA=DC, ADCA
isosceles)
Now (y+2)+x+u=180,
being the £ sum of AABC
o 2(y+2)=180
y+2=90
. £ZBAC=90.




